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ANSWER ALL QUESTIONS
PART—A (10%2=20 marks)

1. What are distributors and service mains?

2. What is the need of primary distribution in an electric
supply scheme?

3. What is the need for stranding the conductors?

4. What is'the effect of unsymmetrical spacing of conductors
in a 3-phase transmission line?

5. Define the relation between attenuation constant and
propagation constant.

6.  Name the various parts of a HT cable.
7. What is the use of power circle diagrams?
8.  What is surge impedance and surge impedance loading?

9. List out the different types of substations and the
equipment used in substations.

10. What is meant by radial feeder?
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11. (@) () What are the merits and demerits of
HVDC  transmission over HVAC
transmission?

(i) Explain the operation of any one type of
HVDC transmission link.

Or

() @) Discuss the effect of increase in voltage
on weight of copper used, line efficiency
and line drop.

(i) What is the percentage saving in feeder
copper if the line voltage in a 2-wire d.c.
system i$ raised from 200 volts to 400
volts for the same power transmitted over
the same distance apd having the same
power loss?

12. (@) () Write short notes on “Inductive
interference with neighboring circuits”.

i) Determine the inductor per Km/phase
of a double circuit 3-phase line shown in
fig.1. The radius of each conductor is 15

mm.
o b [ o! b of
¢ &} ¢} ] o o

Yo VTG 1750k TS ) 15m e 1 75+

fig.1

2

®)

®)

®)

®

®

®




[image: image3.png]13.

14.

(b)

Or

(i) Determine the capacitance and charging (8)
current per unit length of the line when
the arrangement of the conductors is as
shown in fig.2.
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(i) Explain clearly the “Skin effect” and (8)
Proximity effect” when referred to over
head lines.

A 3-phase H0Hz transmission line has (16)
resistance, indactance and capacitance per
phase of 10Q, 0.1H and 0.9uF respectively and
delivers a load of 35MW at 132KV and 0.8p.f.

lag. Determine the efficiency and regulation of

the line using nominal IT method.

Or

(i)  Derive expression for ABCD constants of (8)
a long line starting from first principle,

(i) Discuss the advantages and (8)
disadvantages of Corona.

The three bus-bar conductors in an outdoor (16)
substation are supported by units of post type
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insulators. Each unit consists of a stack of 3
pin type insulators fixed one on the top of the
other. The voltage across the lowest insulator
is 13.1 KV and that across the next unit is 11
KV. Find the bus-bar voltage of the station.

Or

(i) Derive the expression  for thermal
resistance of a single core and 3 core
cables.

(i) A 33 KV single core cable has a conductor
diameter of lcm and a sheath of inside
diameter 4cm. Find the maximum and
minimum stress in the insulation.

Describe the following substation bus schemes
with neat diagram.

() Double bus with Houlﬂe breaker
(i) Double bus with single breaker
Or

() A dc. ring ABCDA is fed from point A
from a 230V supply and the loop
resistances of various sections are
AB=0.04Q; BC=0.35Q; CD=0.5Q and
DA=0.050. The main supplies 100 A at B,
150 A at C and 200 A at D. Determine the
voltages at each load point. If the points
A and C are interconnected through a
link of 0.050), determine the voltage at
the load points.
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systems. What are the effects of bad
grounding on personnel working on
power system networks?
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